






E[Ri]−Rf = βi(E[Rm]− Rf)

Ri,t − Rf,t = αi + βi(Rm,t −Rf,t) + εi,t,
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αi

βi β



Ri,t > Rf,t

βi

Ri,t − Rf,t = αi + βi,1F1,t + βi,2F2,t + ...+ εi,t

Fk,t

Fk,t



xrftse−sc

rftse−sc

×

tb3m =

((
1 +

UKTBTND(IR)

100

)(1/12)

− 1

)

× 100.



xrftse−sc = rftse−sc − tb3m.
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xrftse100 rftse100 − tb3m.

xrftse100



xrftse−sc

yt

∆yt = ρyt−1 +
k∑

i=1

∆yt−i + ut,

ut

H0 : ρ = 0,

yt
∑k

i=1∆yt−i

ut

k

ut



|ρ| < 1

yt

xrftse−sct = α + β1Dum1t + β2FTSE100DYt + β3DBRENTt + β4DINFLAt + β5DIPIt + β6DM0t + β7SPREADt + β8xrftse100t + εt,

εt



∀t

var(εt) = σ2, ∀t σ̂2

β̂i i ∈ {1, ..., 8}

ε̂2

ε̂2t = α0 + α1Dum12t + α2FTSE100DY 2
t + ...+ α9FTSE100DYt + ... + α17Dum1t × FTSE100DYt + ...+ α43Dum1t × xrftse100t + ut

Dum1t = Dum12t

H0 : α1 = ... = α43 = 0

T × R2 ↪→ χ2(43)

T ×R2 ↪→ χ2(43) = 99.54 H0

σ2

βi



ε̂t = α0 + α1Dum1t + ...+ α8xrftse100t + ρ1ε̂t−1 + ...+ ρ12ε̂t−12 + ut,

H0 : ρ1 = ... = ρ12 = 0

(T − 12)×R2 ↪→ χ2(12) (T − 12)×R2 = 11, 72
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H0 β1 = β2 = ... = β7 = 0

χ2(7)
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